Retrieval Augmented Generation

Does the combination of pre-retrieval optimizations create added value?
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* Generative Al: Involves algorithms that can create new
content, such as text, images or music by learning patterns
from existing data and generating original outputs that mimic
the learned data.
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We omit some in-context examples for space reasons.

Step-Back Prompting

{ Step-Back Prompting }

i
: : i Stepback Answer | P d o
SI m p I e p ro m ptl n g Stepback Question Seu O
A What are the physics Ideal gas law: PV = nRT, where P is the pressure, V St B k + R t . |
. principles behind this is the volume, n is the number of moles, R is the gas -
teCh n | q U e th at question? constant, and T is the temperature. = p ac Sl

: _ documents
enables LLMs to do | Step2 Reasoning
a b Stra Ctl ons tO d e rIV e Step 1: Abstraction Apply Ideal gas law to find out the pressure.
h |g h _I evel CO n Ce pts [ Original Question becomes 2T. If the volume is increased by a factor of 8, QU ery

If the temperature is increased by a factor of 2, then T Ste p' BaCk Ste p- B — k
What happens to the then V becomes 8V.

Answer
a N d fl I’St p N Cl p I eS b i Substituting these values into the ideal gas law, we get:

the temperature is increased =
by a factor of 2 and the P(8V) = nR(2T)

fl’O m | n Sta n CeS volume is increased by a

e . \factor of 8 ?
containing specific
details K

Dividing both sides by 8V, we get:
P =nR(2T)/ 8V 1 T

We can see that the pressure has decreased by a factor
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